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Multipliser med potens pa ti (manglende tall)

StudentName:

8, 764 x

= 8764

8, 886 x

= 8886

3,57 x

1, 859 x

= 35.7

=185.9

1,348 x

=13.48

4,344 x

— 43.44

10, 141 x

4,29 x

=101.41

2,149 x

= 4290

=21.49

3,494 x

— 3494

7, 888 x

ExamDate:

ExamScore:

= 788.8

8, 854 x

= 8854

5,071 x

=507.1

2,898 x

=28.98

8,76 x

2,155 x

=876

=21.55

1, 049 x

= 1049

1,596 x

=159.6

7,933 x

=793.3

7,587 %

=758.7
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@ % Multipliser med potens pa ti (manglende tall)

StudentName: ExamDate: __ ExamScore: ____
8,764 x 1000 = 8764 7,888 x 100 = 788.8
8, 886 x 1000 = 8886 8, 854 x 1000 = 8854
3,57 x10=35.7 5,071 x 100 = 507.1
1,859 x 100 = 185.9 2,898 x 10 = 28.98
1,348 x 10 = 13.48 8,76 x 100 = 876
4,344 x 10 =43.44 2,155 x 10 =21.55
10, 141 x 10 = 101.41 1,049 x 1000 = 1049
4,29 x 1000 = 4290 1,596 x 100 = 159.6
2,149 x 10 =21.49 7,933 x 100 = 793.3
3,494 x 1000 = 3494 7,587 x 100 = 758.7
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